CLASS-10"" REVISION (CH: —1 REAL NUMBERS)

Objective Questions
-: Multiple Choice Questions :-

1). The decimal form of a rational number s is terminating if the factor of q will

be of the form ................. .
(a) 2™m5™" (b) 2Mm3™ (c) 2m7™ (d) 2™4"

. . . 17 .
2.) Decimal expansion of rational number ry will be :

(a) Terminating (b) Non-terminating (c) Co prime (d) Prime

. . . 17 .
3.) Decimal representation of rational number ry will be :

(a) 2.125 (b) 3.125 (c) 1.125 (d) 2.25

17
4.) The decimal expansion of rational number ry will terminate after how many

places of decimals ?
(a) 1 (b) 3 (c) 2 (d) 4

5.) Find the missing number in the

following prime factorization tree : A e
S O

/

(c) 3 (d) 6

e
&

6.) Which of the following rational numbers will have a terminating decimal
expansion ?

(@) & (b) — €= @5

7.) Decimal representation of will be ?

23x52
(a) Terminating (b) Non-terminating (c) Co prime (d) Prime




6
8.) Decimal representation of — will be ?

15

(a) Terminating (b) Non-terminating (c) Co prime (d) Prime
9.) The decimal expansion of the rational number 27 x5 will terminate after ?

(a) One decimal place (b) Two decimal place

(c) More than three decimal place (d) Three decimal place
10.) V3 is :

(a) arationalno. (b) anirrational no. (c) aninteger (d) none of these.
11.)5—3V3 is :

(a) arationalno. (b) anirrational no. (c) aninteger (d) none of these.
12.)V2 is :

(a) arationalno. (b) anirrational no. (c) aninteger (d) none of these.
13.) 6 — V2 is :

(a) arationalno. (b) anirrational no. (c) aninteger (d) none of these.
14.) V25 is :

(a) arationalno. (b) anirrational no. (c) aninteger (d) none of these.
15.) 43.123456789 is a .......... Number.

(a) arationalno. (b) anirrational no. (c) none of these.
16.) 0.120120012000120000 ... ........ isa?

(a) Irrational no. (b) Rational no. (c) none of these.
17.) 43.123456789 is a .......... Number.

(a) arational no. (b) anirrational no. (c) none of these.
18.)3.12 is

(a) arational no. (b) anirrational no. (c) aninteger (d) none of these.
19.) wis a/an ....eeecueneee number.

(a) Irrational (b) Rational (c) aninteger

20). Which of the following is an irrational number be :

(a) V3 (b) V9 (c) V25 (d) V16

21.) Which of the following is a rational number be :

(a) V4 (b) V3 (c) V5 (d) v2




22.) A prime number has only .................... factors.

(a) 2 (b) 1 (c) 3 (d) 4
23.) 196 Can be expressed as a product of its prime factor as

(a) 2 x7 x 14 (b) 2 x 2 x 49 (c) 2% x 72
24.) The exponent of 2 in the prime factor of 140

(a) 4 (b) 3 (c) 2 (d) 12
25.) Factors of 24 are :

(a) 23 x 3 (b) 23 x 32 (c)2x3%2 (d)22x3
26.) 5 is the prime factor of ?

(a) 72 (b) 200 (c) 101 (d) 16
27.) Two positive integer numbers, whose HCF = 1 are known as.......... numbers.

(a) Co prime (b) Non-terminating

(c) Terminating (d)Prime

28.) The pair of co-prime is :
(a) 9, 25 (b) 9,21 (c) 32,40 (d) 9,18

29.) Find the value of x and y in given figure :

(@) x=13, y=7
(b)x =7, y=13
(c)x=9, y=12
(d)x=12, y=9

30.) If a and b are two prime numbers, then their HCF is ................. .

(@) 1 (b) 2 (c) 3 (d) 4
31.) The H.C.F of two expressions P and Qis 1, then L.C.M is :
(Alp xq (b)p £ q (c)p +q (dp—q

32.) Euclid’s division lemma states that for two positive integers a and b, there
exist unique integers g and r such that a = bq + r where r must satisfy

() 0<r<b»p (b) 0<r<» (c) 1<r<b»b
33.) What is HCF of 26 and 91 will be ?
(a) 13 (b) 16 (c) 26 (d) 9

34.) The HCF of 8,9 and 25 is
(a) 4 (b) 1 (c) 2 (d) 9




35)HCFofa=2x3%2x5b=22%x3x%x5%c=2%2x3x5%is
(a) 900 (b) 2x3 x5 (c) 60 (d) 22 x 3 x 52

36.)LCMofa=2%x3 x5, b=22x3%2x5c=2x3x%x5%is
(@) 2x3 x5 (b) 900 (c) 30 (d) 22x3%2x5

37.) The sum of two consecutive odd numbers is always divisible by
(a) 2 (b) 3 (c) 4 (d) 5

38.) The product of two consecutive natural numbers is always ..........
(a) Even number (b) Prime number (c) Odd number

39.) The sum or difference of a rational number and an irrational number is :
(a) Irrational (b) Rational (c) None of these

40.) The product and quotient of a non- zero rational number and an irrational

number is :
(a) Irrational (b) Rational (c) None of these
41.) 2m is a/an ......eeeeeneene number.
(a) Irrational (b) Rational (c) None of these
42.) If any number is divided by 5, then which cannot be the remainder ?
(a) 0 (b) 1 (c) 2 (d) 5
43.) Which of the following is a prime number ?
(a) 20 (b) 8 (c) 23 (d) 10

44.) If the product of two numbers is 120 and their LCM is 40. The HCF of the
numbers is ?
(a) 4 (b) 1 (c) 2 (d) 3

45.) The product of two numbers is 120 and their HCF is 40. The LCM of the
numbers is ?

(a) 4 (b) 1 (c) 2 (d) 3
46.) The HCF of 12, 15and 21 is :

(a) 4 (b) 3 (c) 2 (d) 12
47.) If H.C.F of (26, 91) = 13, then LCM of (26, 91) =?

(a) 13 (b) 2366 (c) 2 (d) 182

48.) Express 0.03 as a fraction in simplest form :

3 3 3
(a) Too (b) To (c) To00 (d) None of these




49.) Express 0.0001 as a fraction in simplest form :

1 1 1
(a) 999 (b) 990 (c) 1000 (d) None of these
50.) HCF of 96 and 404 is ?
(a) 4 (b) 101 (c) 96 (d) 16

51.) Which of the following rational numbers will have a terminating
decimal expansion ?

(@) % (b) - (c) - (d)
52.) H.C.F of 64 and 96 is :
(a) 32 (b) 64 (c)4 (d) 96

53.) Which of the following rational numbers will have a terminating
decimal expansion ?

(@) —= b) mes ()= (d) ors
54,)3.17 is a

(a) arational number (b) anirrational number

(c) aninteger. (d) none of these.
55.) What is the L.C.M of 6 and 20 ?

(a) 2 (b) 60 (c) 120 (d) 90

56.) Express 140 as a product of its prime :
(@) 22 x5x%x7 (b) 22 x35  (c) 22 x 35 (d) 10 x 14

57.) 2V/5 x 3V5isa:

(a) arational no. (b) an irrational no.
(c) aninteger (d) none of these.
13
58.) Without doing the long division check whether the rational number 3125
will have a .......cceeeeueeeee decimal expansion.

(a) Terminating (b) Non-terminating (c) Co prime (d) Prime

59.) If the L.C.M of (a, 91) is 182 and H.C.F of (a, 91) = 13, then (a) =?
(a) 13 (b) 91 (c) 182 (d) 26

60.) If the H.C.F and LCM of two numbers is 2 and 60 and one number is 6 the
other number s ?
(a) 30 (b) 120 (c) 20 (d) 240




61. If two positive integers a and b are written as a = x°y% and b = x3y3;
a, b are prime numbers, then HCF (a, b) is :

(a) x*y° (b) x*y (c) x°y° (d) x*y?
62.) V7 is :
(a) arational number (b) an irrational number
(c) aninteger (d) none of these.
63.) % is a Terminating Decimal.
(a) yes (b) No
(c) May be or may not be (d) Non of these
64.) Which of the following rational numbers is not a terminating decimal ?
(@) < (b) = (€) 5 (d) =
65.) Which of the following is a common multiple of 6 and 12 ?
(a) 42 (b) 30 (c) 60 (d) 18
66.) Which of the following is not a common multiple of 6 and 12 ?
(a) 24 (b) 48 (c) 60 (d) 18
67.) The product of non- zero rational and an irrational number is :
(a) Irrational (b) Rational (c) None of these
68.) The sum of a rational number and irrational number is :
(a) Irrational (b) Rational (c) None of these
69.) The product of two different rational number is always :
(a) Irrational (b) Rational (c) None of these
70.) The difference of a rational number and an irrational number is :
(a) Irrational (b) Rational (c) None of these
71.) Is it possible to have two numbers whose HCF is 4 and LCM is 9696 ?
(a) yes (b) No
(c) May be or may not be (d) Non of these
72.) Is it possible to have two numbers whose HCF is 2 and LCM is 15 ?
(a) yes (b) No
(c) May be or may not be (d) Non of these
73.)7 x11x13 +13is:
(a) prime number (b) an irrational number

(c) composite number (d) none of these.




74.) If a and b are two prime numbers, then their HCF is ................. .

(a) 1 (b) 2 (c) 3 (d) 4
75.) The sum of the exponents of prime factors in the prime factorisation 140, is :
(a) 1 (b) 2 (c) 3 (d) 4
76.)Ifa=2x3%2x5%and b = 2% x 52 x 7, then LCM (a, b) is :
(a) 22 x3%2x53x%x7 (b) 2x3x5x%7
(c) 30 (d) 22 x 3 x 52
77.) 6-V2 iIsan ... number, it is being given that v2 is an irrational number.
(a) arational no. (b) anirrational no.
(c) aninteger (d) none of these.
78.) If a and b are two prime numbers, then find LCM (a, b).
(a) ab (b) a+b (c) a—b (d) -
79. If a’b?c and a?bc? are two prime numbers, then, HCF of (a®b?c, a%’bc?) is :
(a) a®bc (b) a%b?c? (c) a®bc? (d) abc
80.) After how many places of decimals will be the decimal expansion of rational
number 2352 terminate ?
(a) 1 decimal place (b) 3 decimal places
(c) 2 decimal places (d) none of these
81.)HCFof 2 x 32 x 52and 22 x 3 x 53?
(a) 223252 (b) 2x3 x5
(c) 2 x 3 x 52 (d) 2 x 3% x 52
82.) If | and m are two prime numbers, then find LCM (I, m).
(a) Im (b) I+m ©l-m  (d)-
83.) What is the HCF of 2 X 32 and 22 x 3 ?
(a) 9 (b) 2 (c) 3 (d) 6
84.) What is the LCM of 2 x 32 and 22 x 3 ?
(a) 6 (b) 2232 (c) 18 (d) 54
85.) Which of the following is an irrational number be :
(a) 0.120120012000120000...... .... (b) 43.123456789

(c) 3.17 (d) %




86.) The exponents of 5 in the prime factorisation of 140, is :

(a) 1 (b) 2 (c) 3 (d) 4

87.) If HCF of two numbers is 1, the numbers are called relatively ......... and ...... .
(a) Prime, co-prime (b) Composite, co-prime
(c) Composite, Prime (d) Both (a) and (b)

88.) For any two positive integers a and b, there exist unique integers q and r
suchthata = bg +r,0 < r < b. If b = 4 then which is not the value of r ?

(a) 1 (b) 2 (c) 3 (d) 4
89.) 10% — 6% is:

(a) prime number (b) anirrational number

(c) composite number (d) none of these.

90.) If a = bq + 1, then least value of ris ;
(a) 0 (b) 2 (c) 3 (d) 4

91.) What is the HCF of the smallest composite number and the smallest even
number ?
(a) 4 (b) 2 (c) 0 (d) 1

92.) Which of the following is true about the prime factors of the denominator
of the decimal expansion, 23.3408 ?
(a) Itis the power of 2 only (b) Itis a power of 5 only
(c) It is a product of powers of 2and 5 (d) It may have any factor

93.) How many prime factors are there in prime factorization of 5005 ?

(a) 5 (b) 1 (c) 3 (d) 4

94.) Which one of the following number is an irrational number ?
(a) 0.121212.... (b) 0.1011001010....
(c) 2.353535.... (d) 0.11111.....

95.) A rational number can be expressed as a terminating decimal if Its
denominator has a factor :

(a) 2 and 5 (b) 3and 5
(c) 2and 3 (d) 2.3 and 5

96.) If the H.C.F and LCM of two numbers are 2 and 60, then the product of two
numbers is :

(a) 30 (b) 120 (c) 220 (d) 240




97.) Which of the following rational numbers will have a terminating decimal

expansion ?

(a) (2-+3) (b) (2 +3)°

(c) (2-+v3)(2++3) (d) Non of these
98.) HCF of 96 and 104 is ?

(a) 8 (b) 101 (c) 96 (d) 16
99.)5 — /3 is :

(a) arational no. (b) an irrational no.

(c) aninteger (d) none of these.

100.) HCF of two consecutive even numbers is :
(a) 2 (b) 1 (c) 3 (d) 4

101.) The reciprocal of an irrational number is :
(a) arational no. (b) aninteger (c) an irrational number.

102.) A number when divided by 255 gives 3 as quotient and 102 as remainder,
then the number is :

(a) 767 (b) 867 (c) 567 (d) 967
103.)5 +V3 ++/5 is :
(a) arational number (b) anirrational number
(c) aninteger (d) none of these
104.) Every positive even integers is of the form ............ for some Integers ‘q’.
(@) 2g -1 (b) 2q
(c) 2qg+1 (d) none of these
105.) If 112 = qX 6 + 1, then the possible value of r are ?
(@) 2,3,5 (b) 0,1,2,3,4,5
(c) 0,1,2,3 (d) 1,2,3,4
106.) a and b are called co-prime integers if :
(a) aisafactorofb (b) bis afactor of a
(c) aand b are consecutive primes (d) The HCFofaandbis 1
107.) Every positive even integers is of the form ............... for some integers ‘q’ .
(d) 2qg—1 (b) 2g+1 (c) 2q (d) none of these
108.) Every positive odd integers is of the form ......... where ‘q’ is some integers.

(a) 3g +1 (b) 2g+1 (c) 2g+2 (d) 5g+1




109.) Every positive odd integers is of the form 2q + 1, where ‘q’ is some
(a) Natural number (b) Integers
(c) Whole number (d) none of these.

110.) What is the LCM of the smallest two digit composite number and smallest
composite number is :

(a) 4 (b) 20 (c) 30 (d) 14
111.) The HCF of 135 and 225 will be ?
(a) 15 (b) 25 (c) 35 (d) 45

33
112.) The decimal representation of 50 will be ?

(a) Terminate after 1 decimal place  (b) Non Terminate
(c) Terminate after 2 decimal places (d) Terminate after 2 decimal places

113.) The least number that is divisible by all the numbers from 1to 5 is:

(a) 30 (b) 60 (c) 90 (d) 120
114.) The LCM of two numbers is 1000. Which of the following cannot be their
HCF ?
(a) 100 (b) 200 (c) 300 (d) 500
115.) The least number that is divisible by all the numbers from 1to 10 is :
(a) 1020 (b) 1520 (c) 2520 (d) 3520

116.) The largest number which divides 45 and 130 leaving remainder 5 and 10
respectively is :
(a) 30 (b) 40 (c) 85 (d) 175

117.) If 156 = 2™.3".13P, then the value of m + n 4 pis (or)
sum of the exponents of prime factors in the prime factorisation 156, is :

(a) 1 (b) 2 (c) 3 (d) 4
118.) Decimal representation of 2242 will be :

(a) Terminating (b) Non-terminating

(c) Non-terminating and repeating (d) None of these

119.) The largest number that divides 40 and 100, leaving remainder 4 in the
first case and 10 in the second case respectively is :
(a) 9 (b) 18
(c) 36 (d) 90




120.) If the HCF of 26 and 91 is expressible in the form 26m — 91, then the
Value of mis:
(a) 4 (b) 13 (c) 26 (d) 7

121.) The largest number that divides 100 and 408, leaving remainder 4 in each
case is:
(a) 4 (b) 18 (c) 36 (d) 90

122.) If 5 is the least prime factor of a number a and 7 is the least prime factor
of a number b, Then the least prime factor of (a + b) is:
(a) 1 (b) 2 (c) 7 (d) 10

123.) What is the LCM of the smallest prime number and smallest composite
natural number ?
(a) 4 (b) 2 (c) 6 (d) 8

124.) There is a circular path around a sports field. Sonia takes 18 minutes to
drive one round of the field, while Ravi takes 12 minutes for the same.
Suppose they both start at the same point and at the same time and go
in same direction. After how many minutes will they meet again at the
starting point.

(a) 12 (b) 18 (c) 30 (d) 36
125.) Calculate the least positive integer which is divisible by 12 and 18.
(a) 12 (b) 18 (c) 30 (d) 36

33
126.) The Decimal representation of 120 will terminate after how many places

of decimals ?
(a) One decimal place (b) Two decimal place
(c) More than three decimal place (d) Three decimal place

127.) Which is the smallest odd composite number ?
(a) 5 (b) 7 (c) 9 (d) 11

128.) Three bells ring at intervals of 3, 6 and 9 minutes. All three rings at 6:AM
When will they ring together again ?
(a) 6:07AM (b) 6:08AM (c) 6:18AM (d) 6:28AM

129.) If two irrational numbers are multiplied, then their product is :
(a) Always irrational (b) Always rational
(c) Rational or irrational (d) None of these




129

. . -
130.) Decimal representation of 2255275 1S ¢

(a) Terminating (b) Non-terminating

(c) Non-terminating repeating (d) None of these
131.) If a = 2* x 33 and b = 23 x 32, then LCM (a, b) is :

(@) 22 x3%2x53%x7 (b) 2x3x5x7

(c) 2% x 33 x 23 x 32 (d) 2% x 33
132.) The prime factorisation of 3825 :

(a) 3 x5%2x%x35 (b) 3% x 5% x 17

(c) 32 x5x 85 (d) 9 x 25 x 17
133.) The HCF and LCM of of 26 and 91 is :

(a) 13,26 (b) 26,13 (c) 13,182 (d) 182,13

134.) The LCM and HCF of of 12, 15 and 21 is :
(a) 3,120 (b) 3, 420 (c) 420, 3 (d) 120, 3




-: ANSWER KEY :-

1.)- Ans. (@) 2™5" (or) 2"5™
2.)- Ans. (a) Terminating.
] 17 17 17
Hint:- [— = = =3
8 2X2X2 23
Explanation :- [Here,q = 8 =2 x 2 x 2 = 23 is of the form of 23,5° (or)

17 N .
2™M5M" Hence ry represents terminating decimals.]

3.)- Ans. (a) 2.125

Hint- 2l = 2125 (on) 7 = 17— 17x8° _ 2125 _ 2125 _,
g~ 8  2x2x2  23x53 103 100

4.)- Ans. (b) 3 (Three decimal place)

17
Hint :- ra 2.125 (Three decimal place) (or)

17 17 _ 17x53 _ 2125 2125

8  2x2x2  23x53 103 100
5.)- Ans. (a) 12

6.)- Ans. (a) %

= 2.125 = (3 decimal place)

17 17 17
: — — } — 23
[— = = — —2X2X2=
Hint [ 3 X2 X2 23 Here, 8 2 2 2 22 can be expressed das

17 . . . L
235%] Hence, r represents terminating decimal expansion .

7.)- Ans. (a) Terminating.
23
23x52

Hint :- (Because, q is of the form of 2352 (or) 2™5". Hence,

represents terminating decimal expansion.)
8.)- Ans. (a) Terminating.

6
Hint :- Is has a denominator of 15, But the fraction must be in simplest

2
Form, .. 165—5 = % , Hence q is of the form of 2"*5™, where n, m are
non negative integers. Then x has a terminating decimal expansion.
9.)- Ans. (b) Two decimal place.
pint - (2L = 2 _ 115 _ 1t
2°x5 2°x5 10 100
10.)- Ans. (b) anirrational number.

) = 1.15 = Two decimal place

11.)- Ans. (b) an irrational no. ( /3, is an irrational number . 5 — 3v/3 is also)
12.)- Ans. (b) anirrational no.




13.)- Ans. (b) an irrational no. Hint ( V2, is an irrational number . 6 — V2 is also)
14.)- Ans. (a) a rational number.

Hint:-[\/ﬁ =5=§]

1
Explanation :- (a rational number can be expressed in the form of gwhere

P and q are two integers and q not equal to zero.)

15.)- Ans. (a) a rational no.

16.)- Ans. (a) Irrational.

17.)- Ans. (a) a rational no.

18.)- Ans. (a) a rational number.

19.)- Ans. (a) Irrational.

Hint (r = 3.141592..., Which is non-terminating and non repeating decimal
expansion) .. Itis anirrational number.

20.)- Ans. (a) V3
21.)- Ans. (a) V4

Hint (V4 = 2, here 2 can be expressed in the form ofs = %where Pandq

are two integers and q not equal to zero.)
22.)- Ans. (a) 2 (1 and number itself)
23.)- Ans. () 22 x 72
(Hint :- Prime factorof 196 =2 x 2 X 7 X 7 = 2% x 7?)
24.)- Ans. (c) 2
Hint:- (140 =2 x 2 x5 X 7 = 22 x 5 X 7) Here, exponent of 2 is 2.
25.)- Ans. (a) 23 x 3
Hint :- (Prime factorof 24 =2 X2 x 2 x 3 = 23 x 3)
26.)- Ans. (b) 200
Hint (5 is the prime factor of that number, which ends with 0 or 5. Here
there is only 200 which end with 0)
27.)- Ans. (a) Co prime.
Hint :- (Co-prime numbers are those numbers, Which do not have any
common factor other than 1. e.g, 4 and 9 are co-prime numbers.)
28.)- Ans. (a) 9, 25
Hint :- (Co-prime numbers are those numbers, Which do not have any
common factor other than 1.)




9 and 25 have no common factor=>9 =3 x 3, 25 =5 X5

. correct answer is (a) 9, 25
28.)- Ans. (a) 9, 25
Hint (9 and 25 have no common factor =>9 =3 x 3, 25 =5 X 5)
29.)-Ans.(b) x =7, y=13
30.)- Ans. (a) 1
Hint :- (Hence, any two different prime numbers will have the highest
common factor as ‘1’. therefore the HCF of given two prime
numbers a and b is 1.)

HCF of two primes is always 1. .. correct answer is (a) 1.
31.)-Ans.(a) p X q
Hint :- Here, HCF of p and q = 1.
HCF (p,q) X LCM (p,q) = p X q
1xXx LCM = pXq
LCM = pXgq
32.)-Ans.(a) 0<r<b
33.)- Ans. (a) 13.
Hint :- Prime factorof 26 = 2 X 13,91 =7 X 13,
Common factor of 26 and 91 = 13, so HCF 26 and 91 = 13)
34.)- Ans. (b) 1.
Hint :- (Prime factorof 8 =2 X2 X 2,9=3 x3and25 =5 x5,
There is no common factor of 8, 9 and 25 so, HCFof 8,9 and 25 = 1
35.)-Ans. (b) 2x3 x5
36.)- Ans. (b) 900
Hint:-Here,a =2x3x5,b=22%x3%2%x5,¢c=2x3 x 52
Explanation :- LCM is the product of the greatest power of each prime
factor, involve in numbers.
S LCM =22 x 32 x 52 =4 x 9 X 25 = 900. Hence, Correct answer is (b)
37.)-Ans. (c) 4
Explanation :- (3 + 5 = 8, which is divisible by 4 and 15 + 17 = 32,
which is divisible by 4)
38.)- Ans. (a) Even number
39.)- Ans. (a) Irrational.
40.)- Ans. (a) Irrational.




41.)- Ans. (a) Irrational.
Explanation :- The product and quotient of a non- zero rational number
and an irrational number is irrational.
(rr is anirrational number. 2 X & = 2w, .. 2w is an irrational no.)
42.)- Ans. (c) 5
Hint (If any number is divided by 5, the remainder is always less than 5.)
43.)- Ans. (c) 23
Hint :- (Prime numbers are those numbers, which have no factor other than
1 and the number itself.)
44.)- Ans. (d) 3
Hint :- (HCF (a,b) X LCM (a,b) = a X b)
__ product of numbers 120

(Her = =20 =3)

LCM 40
45.)- Ans. (d) 3
Hint - LCM = product of numbers _ 120 —3

HCF 40
46.)- Ans. (b) 3.
Hint :- Prime factorof 12 =2 x2 X 3,15=3%xXx5and21 =3 x7

Common factor of 12, 15 and 21 is 3, .- HCF of 12, 15 and 21 = 3
product of numbers

47.)- Ans. (d) 182 Hint :- LCM =

HCF
26x91 226%91
= = =2x91 =182
13 134
3
48.)- Ans. (a) 1—(1)0
49.)- Ans. (a) 999

50.)- Ans. (a) 4 Hint:-(Here, 96 =2 X2 Xx2Xx2Xx2X3,404=2x%x2x101
~. Common factor of 96 and 404 is 2 X 2 = 4 so, HCF 96 and 404 = 4

17
51.)- Ans. (a) ry
Explanation :- If x = g be a rational number, such that the prime

factorization of q is of the form of 2"5™, where n, m are non- negative
integers. Then x has a terminates or terminating decimal expansion.)
Here,8 =2 x 2 x 2 = 23,5% or 2m5™,
17
(Hence, ry represents terminating decimal.)
52.)- Ans. (a) 32.




Hint:-Here, 64 =2 X2 X2 X2X2X2, 96=2X2X2Xx2Xx2X%X3
. Common factor of 32 and 96 is 2° = 32 so, HCF of 64 and 96 = 32

96
53.)- Ans. (b) T

54.)- Ans. (a) a rational no.
Hint :- [Since, rational number represent terminating or non- terminating
repeating decimal.]
55.)- Ans. (b) 60
Hint :-Here,6 =2 X 3and20=2X2 X5
Explanation :- LCM is the product of the greatest power of each prime

factor, involve in numbers.

. L.C.M of 6 and 20 = 22 x 3 X 5 = 60. .. Correct answer is (b) 60

56.)- Ans. (a) 22 x5 % 7
Hint:- (140 =2 x 2 x5X 7 = 22 x5 x 7) . Correct answer is (a)

57.)- Ans. (a) a rational number.
58.)- Ans. (a) Terminating.

13 13 _ 13 _ _
- l3125 = EXEx5x5x5 ?] Because, prime factor of g(3125) is

13
of the form of 2°5° (or) 2™5™. Hence, 3125 represents terminating

(Because, q is of the form of 25" )

Hint :

decimal expansion.)
59.)- Ans. (d) 26
Solution :- (HCF (a,b) X LCM (a,b) = a X b)
HCF (a,b)x LCM (a,b)
=a

b
13x182 13x1822
= %1~ o =13 X2 =26
60.)- Ans. (c) 20
Hint :- (HCF (a,b) X LCM (a,b) = a X b)
HCF (a,b)x LCM (a,b) b
a B 10
p = 2><60: 2X60 — 2% 10 = 20

6 61
61.)- Ans. (c) x3y?
Hint:- (Wehave,a = x°y? = x X x X X X X X X Xy X y
b=x3y3 =xXxXxxyxyxy)
common factorof a = x°y?and b = x3y3isx x x x x X y X y
~ HCF a = x°y? and b = x3y3 is x3y?
62.)- Ans. (b) anirrational no.




63.)- Ans. (a) Yes.

Hint :- (Here q=125=5 x5 x 5= 53 of the form of 2°53(or) 2™5".

64.)- Ans. (d) E
79

Hint:- {570 = 2><3><5><7

]Here g=210=2 X 3 X5 X 7 is not of the

79 . . .
form of 2™5™, Hence, 710 1S not a a terminating decimal.

65.)- Ans. (c) 60
Hint :- (Multiple of 6 = 6, 12, 18, 24, 30, 36, 42, 48, 54, 60 and
Multiple of 12 = 12, 24, 36, 48, 60)
Common multiple of 6 and 12 = 60 .. correct answer is (c) 60.
66.)- Ans. (d) 18.
Hint :- (Multiple of 6 = 6, 12, 18, 24, 30, 36, 42, 48, 54, 60 and
Multiple of 12 = 12, 24, 36, 48, 60)
Common multiple of 6 and 12 = 12, 24, 36, 48, 60
But 18, is not a common multiple of 6 and 12

. correct answer is (d) 18.
67.)- Ans. (a) Irrational.

68.)- Ans. (a) Irrational.
69.)- Ans. (b) Rational.
70.)- Ans. (a) Irrational.
71.)- Ans. (a) Yes.

. . . 9696
Explanation :- [HCF always divides LCM completely] - 2424

72.)- Ans. (b) No
Explanation :- [HCF always divides LCM completely]
73.)- Ans. (c) composite number
Hint: [We have, 7 X 11 X 13 + 13 = 13(7 X 11 + 1)Hence, given
Number is divisible by 13 except 1 and itself.]
Therefore, it is a composite number.]
74.)- Ans. (a) 1

Hint: [Since, a and b two prime numbers then there is no common factors

except1.] ~ HCF(a,b) =1
75.)- Ans. (d) 4
Hint: [We have, 140 =2 X2 x5x%x 7 = 22 x 51 x 71]
76.)- Ans. (a) 22 x3%2x53%x 7




77.)- Ans. (b) an irrational number.
Hint: [Since, V2 is an irrational number. .. 6 —+/2 is also an irrational no.

Therefore, is also an irrational number.] The difference of a

rational number and an irrational number is always irrational.

78.)- Ans. (a) ab
79.)- Ans. (a) a’bc
80.)- Ans. (b) 3 decimal places.
81.)- Ans. (c) 2 X 3 x 52
82.)- Ans. (a) Im
83.)- Ans. (d) 6

Hint:-Here,2 x 3% =2x3x3and2?2x3=2x2x3

Explanation :- HCF is the product of the smallest power of each common

) = 0.115 = 3 decimal place

prime factor in numbers.
Therefore HCF of 2 X 32 and 22 x 3 = 2 X 3 = 6 .~ Correct answer is (d) 6
84.)- Ans. (b) 2% x 32
Hint:-Here,2 X 32 =2x3x3and22x3=2x2x3
Explanation :- LCM is the product of the greatest power of each prime

factor, involve in numbers.
Therefore LCM of 2 x 3% and 22 x 3 = 22 x 32 .. Correct answer is (b)
85.)- Ans. (a) 0.120120012000120000 ...... ....
86.)- Ans. (a) 1
Hint: [We have, 140 =2 x2 X 5x 7 => 22 x 51 x 71]
87.)- Ans. (a) Prime, co-prime
Hint: [Prime numbers are those numbers, which have no factor other than
1 and the number itself. Co prime numbers are those numbers,
Which have at least 1 factor other than 1 and the number itself]
88.)- Ans. (d) 4
Hint: [Givena =bgq+ 1,0 <r <bandb = 4]
89.)- Ans. (c) composite number
Hint: [We have, 102 — 6% = (10 + 6)(10 — 6) = 16 X 4 = 64]
Hence, 10% — 62 is a composite number]




Explanation :- (A composite number has more than two factors itself and 1.
since 64 has more than two factorsi.e. 1, 2, 4, 8, 16, 32, 64.)
90.)-Ans.(a) O
91.)- Ans. (d) 2
Hint: [Smallest composite number =4 =2 X 2 and
Smallest even number = 2= 2 X 1]
Common factorof 4 and 2 = 2,

S~ HCFofd4and 2 =2

Ans. (d) 2
Hint: [Smallest composite number = 4 and Smallest prime number = 2]
. HCF =2

92.)- Ans. (c) It is a product of powers of 2 and 5
93.)- Ans. (d) 4 prime factors
Solution :- [5005 = 5 X 7 X 11 X 13.] Thus there are 4 prime factors
there in prime factorization of 5005]
94.)- Ans. (b) 0.1011001010..........
Explanation :- [A real number is an irrational number when it has a
non- terminating, non- repeating decimal representation.]
95.)-Ans.(d) 2and 5
96.)- Ans. (b) 120
Hint :- (HCF X LCM = product of numbers)
97.)- Ans. (c) (2 — \/§) (2 + \/§)
98.)- Ans. (a) 8.
Hint: [We have, 96 = 2° x 3, 104 = 23 x 13]
. HCF of (96,104) = 23 =8
99.)- Ans. (b) an irrational no.
Hint : (+/3, is an irrational number, .. 5 — /3 is also an irrational no)
100.)- Ans. (a) 2
101.)- Ans. (b) an irrational no.
102.)- Ans. (b) 867

Explanation :- Dividend = Divisor X Quotient + Remainder
Number (Dividend) = Divisor X Quotient + Remainder
= 255 x3 +102
= 867




103.)- Ans. (b) anirrational no.
Hint :(The sum of a rational and irrational number is an Irrational number)
104.)- Ans. (b) 2q
105.)- Ans. (b) 0,1,2,3,4,5
Hint[a=bq+1r,0<r<bandb =6,Hencer =0,1,2, 3,4,5]
106.)- Ans. (d) The HCFof aand b is 1.
Hint : [a and b are said to be co-prime integers if they have no common
factor other than 1. The HCF of two numbers that have no common
factor other than one is 1]
107.)- Ans. (c) 2q
Explanation :- Let aa be an positive integer and b = 2. Then applying
Euclid’s Division Lemma, we have, a = 2q + r where
0<r<2 r=0o0r1. Thereforea =2qor2q+1
Thus itis clear a = 2q, l,e., aais an even integers is of the
form of 2q
108.)- Ans. (b) 2q + 1
Explanation :- Let a be any positive integer and b = 2. Then by applying
Euclid’s Division Lemma, we have, a = 2q + r
where 0 <r <2, r =0o0r 1. Thereforea = 2qor2q + 1
Therefore it is clear that a = 2q, l.e., a is an even integers,

Therefore 2q + 1 is an odd integer.
109.)- Ans. (b) Integer.
Explanation : [Euclid’s division lemma states that for given two positive

integers a and b, there exist unique integers q and r such
that a = bq + r where r must satisfy 0 <r <b

110.)- Ans. (b) 20
Hint: [Smallest two digit composite number = 10 and Smallest composite

number = 4]
Prime factorof 10 =2 X5and 4 =2 X 2
LCM of 10 and 4 = 20, .. option (b) is correct

111.)- Ans. (d) 45.
Hint (Prime factorof 135 =3 X3 X3 X 5and 225=3x3 x5 X35,

~. common factorof 135and 225 =3 X3 X 5 =45,
Hence HCF 135 and 225 = 45) .. option (d) is correct.




112.)- Ans. (d) Terminate after 2 decimal places.
H't-(ﬁ— 33 33 _ 33x2 __ 66 __ 66
N80 = 2x5x5 ~ 2x52  22x82  (2x5)2 _ 100

):0.66

33 . . . . .
o will Terminate after 2 decimal places. Hence, option (d) is correct.

113.)- Ans. (b) 60
Explanation :- [The required least number is the LCM of (1, 2, 3, 4, 5) = 60]
Hence, option (b) is correct.
114.)- Ans. (c) 300
Explanation :- [HCF always divides LCM completely]
115.)- Ans. (c) 2520
Explanation :- [The required least number is the LCM of numbers (1 to 10)
LCM of numbers (1, 2, 3, 4,5, 6, 7, 8,9, 10) = 2520]
Hence, option (c) is correct.
116.)- Ans. (b) 40
Hint :- [Largest such number will be the HCF of (45 — 5) and (130 — 10)
i.e., HCF of 40 and 120 is
40=2X%X2%Xx2Xx5and120=2x%x2Xx2xXx3X5
~. common factorof40and 120 =2 X2 X2 X 5 =40

Hence HCF of 40 and 120 is = 40 .. option (b) is correct.
117.)- Ans. (d) 4
Hint: [We have, 156 =2 X2 X3 X 13 => 156 =2" x 3" x 13?
m=2n=1,p=1m+n+p=2+1+1=4,
Hence, option (d) is correct.
118.)- Ans. (a) Terminating

Explanation :- [Since the prime factorization of the denominator of the

. . 29
given rational number Y is of the form of 2"5™, where n, m are

non-negative integers. Therefore its decimal representation is terminating.]
119.)- Ans. (b) 18
Hint :- [Largest such number will be the HCF of (40 — 4) and (100 — 10)

i.e., HCF of 36 and 90 is
36 =2%x2%X3Xx3and90=2%x3XxXx3 X5

~» common factorof 36 and 90 =2 X 3 X 3 =18
Hence HCF of 36 and 90 = 18, therefore (b) is correct.




120.)- Ans. (a) 4
Hint :- [HCF of 26 and 91 is expressible in the form of 26m — 91, so first
of all find the HCF of 26 and 91]
26 =2x%x13and91 =7 x 13
~. common factor of 26 and 91 = 13, Hence HCF of 26 and 91 = 13
So,26m —91 =13,
26m =13 +91

26m = 104,
104 1044 . . .
m=-_- = 26, =4 .. Option (a) 4 is correct.

121.)- Ans. (b) 18
Hint :- [Largest such number will be the HCF of (100 — 4) and (408 — 4)
i.e., HCF of 66 and 404 is
96 =2 X2X2%Xx2%Xx2X%Xx3and404=2x%x2x101
~. common factorof 96 and 404 =2 X 2 =4

Hence HCF of 96 and 404 = 4 .. Option (b) 18 is correct.
122.)- Ans. (b) 2
Hint :- [5 is the least prime factor of a number a (a is an odd number) and
7 is the least prime factor of a number b, (b is an odd nhumber)]

~ (a + b) is an even number, because sum of two odd is even.
So, the least prime factor of (a + b) is 2,
Hence, option (b) is correct.
123.)- Ans. (a) 4
Hint: [Smallest prime number = 2 and
Smallest composite natural number = 4 = 2 X 2]
~LCMof2and4 =4
124.)- Ans. (d) 36
Hint :- [Required number = LCM (12, 18)]
12=2%Xx2Xx3and18=2x3x3
LCM(12,18) =22 x 32 =4%x9 =36 .. option (d) is correct.
125.)- Ans. (d) 36
Hint :- [Required number = LCM(12,18)]
12=2%x2X3and18=2x%x3 X3
LCM(12,18) =22 x3%2=4x9 =36 .. option (d)is correct.




126.)- Ans. (d) Three decimal place
33 3311 11
120 ~ 1204, 40
1 11 11 _ 11x5% _ 11x25 _ 275

40 2x2x2x5 23x5 23x53 103 1000

Hint :- [Fraction must be in simplest form] .-

= 0.275

33 . . .
So, 120 will terminate after three decimal places.

127.)- Ans. (c) 9
Hint: [Composite numbers are those numbers, Which have at least 1 factor
other than 1 and the number itself.]
Odd composite numbers are all odd integers that are not prime.
Numbers 5, 7, and 11 has no other factor. 9 is a composite number
because it has a factor 3 X 3, Hence 9 is the smallest odd composite
number.
128.)- Ans. (b) 2
Hint :- [Required number = LCM of 3, 6 and 9 = 18]
Bells will ring together again at 6:18AM]
129.)- Ans. (c) Rational or irrational
Explanation :- [The product of two irrational numbers can be rational or
irrational depending on two numbers.]
For example V2 x/2 = 4, which is a rational number.
where as V2 x V3 = \/6, which is an irrational number.
. option (c) is correct.
130.)- Ans. (c) Non-terminating repeating
Explanation : [Since the prime factorization of q is not of the form of

2™5™ and also has a 7 as its factor, So the decimal expansion
129 .. . .
of 2Zx525075 15 3 non-terminating decimal expansion.]
131.)- Ans. (d) 2% x 33
132.)- Ans. (b) 32 x 52 x 17
133.)- Ans. (c) 13,182

Explanation :- We have
26=2%x13and91 =7 x 13
H.C.F of (26, 91) = 13
LCM of (26, 91) = 2 x 7 x 13 = 182




134.)- Ans. (c) 420, 3
Explanation :- We have
12=2%Xx2%X3,15=3Xx5and21 =3 %x7
H.C.Fof (12,15and 21) = 3

LCMof (12,15and 21 =2 X2 X3 X 5X 7 =420




Tick the True /False

1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)

13)
14)

15)
16)

17)

18)

V25 is a rational number.

V5 is an irrational number.

V5 is a rational number.

3v5 x 2+/5 is a rational number.
35 x 2+/5 is a irrational number.

1
— is a rational number.
V2

V3 is a irrational number.

3 is a rational number.

/9 is an irrational number.

2+/3 is an irrational number.

5 — /2 is a rational number.

Any two positive integers a and b,

HCF (a,b) X LCM (a,b) =a X b

. . 3
The number 0.15 can be written as a rational number 20

140 Can we written as a product of factors in the form

of (2)% (5)(7)?

Every composite number can be expressed (factorized) as a
product of primes.

Positive integers a and b, there exist unique integers q and

r satisfyinga=bg+1r, 0< r <b

If x = g be a rational number, such that q is of the form of

2™"5™ where n, m are non negative integers. Then x has a
Terminating decimal expansion.

If x = g be a rational number, such that q is not in the form of

2™"5™  where n, m are non negative integers. Then x has a

Non-terminating repeating decimal expansion.
13

19) —— is terminating decimal expansion.

125

(True)
(True)
(False)
(True)
(False)

(False)

(True)
(True)
(False)
(True)
(False)

(True)
(True)

(True)

(True)

(True)

(True)

(True)
(True)




20) Product of two positive integers. (True)

21) ax b =HCF (a,b) x LCM (a, b) (True)
22) 0.120120012000120000 ............ is a rational number. (False)
23) V4 is anirrational number. (False)
24) Decimal expansion of % is terminating. (True)

25) Prime numbers have no factor other than 1 and the number itself. (True)




Fill in the blanks given below

1) mis a irrational number.

3
2) The rational form of 0.15 is : - 20

3) Product of two numbers = HCF x LCM

4) The sum (Addition) or difference (subtraction) of a rational and an irrational
number Is irrational number.

5) The product and quotient of a non zeroes rational and an irrational number
is irrational .

6)Ifx = g be a rational number, such that the prime factorization of q is of the

form of 2™5™, where n, m are non negative integers. Then x has a

terminates / terminating decimal expansion.

7)If x = s be a rational number, such that the prime factorization of q is not

in the form of 2™5™, where n, m are non negative integers. Then x has a
non-terminating repeating decimal expansion.
8) If a = bq + r, then least value of r is zero.
9) The decimal representation of a rational number is eithe terminating or
non-terminating expansion.
10) 43.123456789 is a/an Rational humber.
11) 43.123456789 is a/an Rational number.
12) 0.120120012000120000 is a/an Non rational/ Irrational humber.
13) If a and b are two Prime numbers, then their HCF 1.

6—V2 |, .. L i . .
14) ?\/_ is an irrational number, it is being given that v/2 is an irrational number.

15) The sum of the exponents of prime factors in the prime factorisation 140,
isg.

16) HCF of 26 and 91 is 13.

17)ifa=2x3%>x5%and b =22 x 52 x 7,
then LCM (a, b) is 22 x 3% x 53 x 7.

18) The condition satisfied by g so that a rational number g has a

terminating decimal expansion, is g = 2"5™ where m, n be.




